SEZNAM SOUCASTI A JEJICH VYKRESU 1/ 2

HISLO VYKRES / SOUCAST SESTAVA |ks.| ATERIALY

POZICE DODAVATEL
1 |STM DESKA SPODNI Platforma| 1 143071
2 |STM DESKA ZAVESNA Platforma | 1 14301
3 |STM HORNI MOST Platforma| 1 143071
L |STM HORNI NOSNIK Platforma| 2 14301
5 |STM PODLOZKA STRUN Platforma| 2 14301
6 |STM DOLNI MOST Platforma| 1 14301
7 |STM DOLNI NOSNIK Platforma| 3 1.4301
8 |STM ZAVES PRUZINY Platforma| 3 14301
9 STM UCHYT STRUNY Platforma| 2 Nerez A2
10 |[STM TLUMENI TRUBKA Platforma |18 | Cu-DHP
11 |STM ZNACKA Platforma| 3 | Nerez A2
12 |STM ARETACE HROT 2 Platforma| 1 | Nerez A2
13 |STM ARETACE JAMKA Platforma| 1 14301
14 |STM ARETACE KUZEL Platforma| 1 14301
15 |STM ARETACE HROT 1 Platforma| 1 | Nerez A2
16 |STM ARETACE MOST Aretace | 1 14301
17 |STM ARETACE KRIZ Aretace | 1 14301
18 |STM ARETACE VEDENI Aretace | 2 14301
19 |STM ARETACE HROT 3 Aretace | 1 143071
20 |STM STIT PLAST Stit 1 Cu-DHP
21 |STM STIT VIKO 1 Stit 1 Cu-DHP
22 |STM STIT VIKO 2 Stit 1 Cu-DHP
23 [STM STIT PANT Stit 1 Cu-DHP
2L |STM STIT DVERE Stit 1 Cu-DHP
25 |STM STIT DNO Stit 1 Cu-DHP
26 [STM STIT CEP Stit 1 14301
27 |STM STIT NOHA 1 Noha A 1.4301
28 |STM STIT NOHA 2 Noha L 143071
29 |STM STIT JEHLA Noha L | Forst Agro
30 |STM SLOUP Sloup 3 143071
31 |STM SLOUP SROUB Sloup 3 14301
32 |STM SLOUP MATICE Sloup 3 143071
33 |STM SLOUP ZAKLADNA Sloup 3 14301
3L |STM ZAVAZI PLAST Zavazi 1 Cu-DHP
35  |STM ZAVAZI DNO Z5vazi 1 Cu-DHP




SEZNAM SOUCASTI A JEJICH VYKRESU 2/72
36 [STM SLOUP OBJIMKA 1 Mikroskop | 5 14301
37 |STM SLOUP OBJIMKA 2 Mikroskop | 5 1.L301
38 |STM SLOUP DRZAK Mikroskop | 1 1.4:301
39 [STM DESKA PODPURNA Mikroskop | 1 1.4301
40 STM PRIRUBA Mikroskop | 1 [Vacuum Praha
L1 |STM TLUMENI TYCINKA Mikroskop | 18 1.L301
L2 |MAGNET DISKOVY SmCo @3x3 mm Mikroskop |5k Selos
43 |LINEARNI UHV POSUV 25,4 mm (M-BLM25-16CF) |Mikroskop | 1 LewVac
LL |PRUZINA TAZNA katalog. €. 04/11/2 Mikroskop | 1 |  Hennlich
L5 |PRUZINA TAZNA katalog. €. 08/10/2 Mikroskop | 3 | Hennlich
L6 |DRAT NEREZOVY 80,2 mm Mikroskop | 2 14301
LT |PRUZINA TAZNA katalog. €. 04/10/5 Mikroskop | 3 | Hennlich
48 |PRODLOUZENI PRIRUBY 125 mm (FL-SC4OCF) Mikroskop | 1 LewVac
L9 |SROUB M3x10 S VNITR. SESTIHR, Platforma |30 | Nerez A2
50 |SROUB M3x15 S VNITR. SESTIHR. Platforma| 3 | Nerez A2
51 |MATICE M3 SESTIHRANNA Platforma| & | Nerez A2
52 |SROUB M5x10' S VNITR. SESTIHR. Platforma| 2 | Nerez A2
53 |SROUB M3x10 SE ZAPUST. HLAVOU S DRAZKOU |Aretace | 2 | Nerez A2
54 |SROUB M3x10 S VNITR. SESTIHR. Aretace | 2 | Nerez A2
55 |[MATICE M3 SESTIHRANNA Aretace | 1| Nerez A2
56 |SROUB M3x5 SE ZAPUST. HLAVOU S DRAZKOU  |Stit 10| Nerez A2
57 |SROUB M2x10 S VNITR. SESTIHR. Stit 1| Nerez A2
58  |MATICE M2 SESTIHRANNA Stit 1| Nerez A2
59 |SROUB M3x10 S VNITR. SESTIHR. Sloup 3 | Nerez A2
60  |SROUB M3x5 S VNITR. SESTIHR. Sloup 6 | Nerez A2
61 | SROUB M3x5 SE ZAPUST. HLAVOU S DRAZKOU  |Z3vazi 3| Nerez A2
62 |SROUB M3x10 SE ZAPUST. HLAVOU S DRAZKOU |Zavazi 3| Nerez A2
63 |MATICE M3 SESTIHRANNA Z5vazl 3| Nerez A2
64 |SROUB M6x25 S VNITR. SESTIHR. Mikroskop | 3 | Nerez A2
65 |MATICE M6 SESTIHRANNA Mikroskop | & | Nerez A2
66 |SROUB M6x20 S VNITR. SESTIHR. Mikroskop | 3 | Nerez A2
67 | SROUB M3x20 S VNITR. SESTIHR. Mikroskop | 3 | Nerez A2
68 | SROUB M3x10 S VNITR. SESTIHR. Mikroskop | 5 | Nerez A2
69 MATICE M3 SESTIHRANNA Mikroskop | 2 Nerez A2
~ |STM ZAVAZIROZVIN - - Cu-DHP
~ |STM STIT ROZVIN - - Cu-DHP




